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1. ZE G TI A I T E 3T TR T TR 7 Fecl HITHHIT (OMR | Seart SFeasht # 271 ¢ | #mr

i TN o) o et B SN A 9T 3 IR AT Y | ST @ W IS HIIT 9T Sy T 377

dtf ofem ¥ s e, e AR w T A 0 wee § AT ueAm WA R AT | HIT A AT
ﬁﬁw?ﬁqﬁg@mﬁmmﬁmm’g |

This question paper contains FOUR sections and you have to answer all questions in the OMR
answer sheet Section "A" Mathematics contains 50 questions of 3 marks each, Section “B" GK,
'C' Language and 'D' Intelligence contains 25 questions of 2 marks each respectively. Section C
is language specific and is to be attempted in the chosen language.

2 =g Wt T FA U 8 TR Srat B | Welieh U & Ieal & T sharel U T $ | 7 3T

R W SATET I Y AT Y T T 3o Tered AT AT |

There is only one correct answer for each question. Darken only one bubble for each question.
If you darken more than one bubble, your answer will be treated as wrong.

3, 3THITT (OMR) Seait Qfee Seed & Zam i Smeeft | araeneil ave & 58 Seen JRet
#ﬁﬁﬁﬁmamﬂﬁwﬁtwﬂ#m& Y 18T, T SHET AT G S |
Evaluation of OMR answer sheet will be done on a computer. Be careful and ensure no un-

necessary marks on the OMR answer sheet/ fold or attempt to deface the OMR answer sheet,
otherwise it will not be evaluated.

4. T FI T UF & T oA G geet 7 81 A, = fib Sear qfEet 7|
Rough work must be done on the additional sheet only and NOT on OMR answer sheet.

5 3T SeaT FET A1 el Tardy ard O A & 37t | I & e A F:

Write your answers in Blue/Black ink only. Do not use pencil.

6., FET Y55 I AT, FH T I A FA 2S¢
There are total 32 pages in the question paper.
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2 Class VI-SET A

HIT ‘F - 0T

SECTION A - MATHEMATICS

1 He® 991 T WEH FA T F & 7 HA AT FE W6, 2, 7, 4, 3 3 F FaA
U a0 I9AT FF Forar s wwar g
Find the difference between the greatest and the least number that can be
written using the digits 6, 2, 7, 4, 3 each only once.

(a) 52865 (b} 53965 fc) 52956 (d) 52659

2. uﬁmﬁwaﬁﬁwﬁﬁﬁq@mﬂ:mms%u * 428 T IHTHTA

el

Estimate the product 5980 x 428 by rounding off each number to the nearest
hundreds

fa) 236000 (b) 240000 {c) 2400000 (d) 3000000

3. e AET 3 4. 5% equra A § HR 36 v us. 2400 ¥ 3T vw Ao, B
Three numbers are in the ratio of 3: 4: 5 and their L.C.M. is 2400. Their HC.F. is

(a) 120 (b) 60 (c) 80 (d) 40

| 1t

L

4. T U TFas & 25 953 e § ot 100 yes 1 ¥ afdar F 39 a5 —
qg1| foras foRaaT & Ter?

-

Leela reads 25 pages of a book containing 100 pages. Lalita read 5 of the same
book. Who read less and by how much?

(a) Leela, 15 pages (b) Lalita,15pages
(c) Leela,20pages (d) Lalita,20pages

. (\fﬁ}!ﬁ G AtG i) o & agat & /s equal to

11 V25 V196

(a) 5 (b)& (c) 8 (d) 11
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Class VI - SETA

STAteT o 3redr ard & fore 3 afiex 20 AdnteT waet 3N el gees & faw 2 Arex 5

AT e wieT| 39 gERT @ 0 H93 A e daGrg i HfFv

Naveen bought 3 m 20 cm cloth for his shirt and 2 m § em cloth for his trousers.
Find the total length of cloth bought by him.

(a) 5.7m (b) 5.25m (c) 4.25m (d) 5.00m
3,4 31X 0 T FH | HH AT I0H (CTHLTH)

The least common multiple of 3, 4 and 9 is

(a) 36 (b) 12 (c) 27 (d) 45

us T 5 w3 240 farey / e &y 7f 3 e TAfRaa g a awar &1 waE gl
1 % et 3 s ot o fore, s e anfey & 2 el e 2

An aeroplane covers a certain distance at a speed of 240 km/h in 5 hours. To
cover the same distance in 1 Ehours, it must travel at a speed of ?

(a) 300km/h (b) 360km/h (c) 600km/h (d) 720km/h

‘A 16 Rt F &Y Rw v Rvet F @i Yod ¢ Ror gwar ¢ 3R B 12 A & el
FHTH FT THaT 1 'C' 1 FAog § I7p 4 BT 7 & a1 T 7 o B © e
forasr =T A 1 T @Far § 2

'A' can lay railway track between two given stations in 16 days and 'B' can do the

same job in 12 days. With the help of 'C', they did the job in 4 days only. Then,
'C' alone can do the job in how many days ?
3

1 4
9— davs 9— davs 9— days 9— davs
(@) 5 ° (b) 5 ° ©ra G (d 5

IR &, I & 3 P & gew & [ gea

e R g F 3T 9 dEw F B g

In the figure, find the ratio of Number of triangles to the

number of circles inside the rectangle and Number of
squares to all the figures inside the rectangle.

diid 3 2 2

2
@7 7 (@7 (@32
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11.

12.

13.

14.

15.

4 - Class VI-SETA

A, g 3R AMeT T 1 Ua 397 | ) S9r 3 272 v &) et & 3

FH F9 § WIS =1 & 918 gl 9o &) o Bar ar?
Ram, Rahul and Rohit shared a bag of marbles. The bag contained 272 marbles.
How many marbles were left over after the friends shared them equally?

(a) 90 (b) 91 (c)6 (d)2

4 Z3Te Fer &1 FAA 60 TT ¥ 12.50 FUA F et Far @i o wEa B2

Cost of 4 dozens of bananas is Rs 60. How many bananas can be purchased for
Rs 12.507

(a) 10 (b) 15 (c) 12 (d)18

U FET H 16 21 &1 AT T 50.25 FFatans & 3T 9w 8 F=51 57 9377 45.15

freitaa &1 FeTr & |l oisan! & 3itea a1 &1 uar e
The average weight of 16 boys in a class is 50.25 kg and that of the remaining 8
boys is 45.15 kg. Find the average weight of all the boys in the class.

(a) 47 55kg (b) 48kg (c) 48.55kg (d) 49.25kg

Ho[ U IR 6 & IRt 3R et ¥ S i dard 35 ey ik ol 20 &
&l #1730 FreX & @ vk #F sl ¥) e ww gl g awel ¥ s fraw
CaRT, PR A4 MBS AN g AN AF A3 ghr g A v )

Manju runs around a rectangular park of length 35m and breadth 20m. Meenu

runs around a square park of side 30m. Who covers less distance and by how |
much, if Meenu takes 4 rounds and Manju takes 3 rounds completely.

(a) Meenu, 150m  (b) Manju,120m (c) Manju,150m (d) Meenu,120m

U WEl A UF TGS & R # O e et gmy @ 3t dar i
Frafaf@a & | Fi9 ar v 55 F1 @i R 7

A photo frame is in the shape of a quadrilateral with one diagonal longer than the
other. Which of the following is the possible shape of the photo frame?

(a) Square (b) Rectangle
(c) Rhombus (d) None of these
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16, U I GU Fax I 30§ IeauiOsdl & seure gAer g

The product of a non-zero whole number and its successor is always:

(a) Divisible by 3 (b) An odd number
(c) A prime number (d) An even number

17. U ORI 5 Aret # 9% & 2T A T 4016.25 F7 GruRor =47 2 ¥ afr e e

A sum fetched a total simple interest of Rs. 4016.25 at the rate of 9 % in 5 years.
What is the sum?

(a) Rs.4462 (b) Rs.8032 (c) Rs.8900 (d) Rs. 8925

18. 9 98T ATH 6 a5t Earar g, at vy & gt & i & ot 1 A

Find the angle measure between the hands of the clock when time shows 8 PM

(a) 90° (b)45° (c)180° (d)270°

19. 6 9l &Y v Y F7 JAAH AT BT

Find the volume of a cube of side 6em
(a) 216cm’® (b) 36cm* (c) 72cm? (d) 108em”®

20. W afE COXXXIX &1 ardft® 3% o Rifan-
Write Roman numeral CDXXXIX in Arabic numeral

(a) 439 (b) 449 (c) 529 (d) 539

21, &Y WEATHT &7 IO 1296 1 AR v He gwy A 16 I ¥ O wew ww
'. oy

The product of two numbers is 1296, If one number is 16 times the other, find the
smaller number.

(a) 12 (b)16 (c)4 (d) 9
g 22. wﬁmmmeo*w%hwﬁ:wmwmwh

The measure of an angle is% of 60°. What is the measure of its complementary
angle?

(a) 30° (b) 60° (c) 45° (d) 20°
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23.

24.

25.

26,

27,

28

B Class VI-SETA

5.675 31T 1.327 ¥ 3T & 8.362 3R 7.942 F AT HI €W
Subtract the difference of B.362 and 7.942 from the sum of 5.675 and 1.327

(a) 6.582 (b) 4.348 (c) 3.982 (d) 4.384

| cm 4 ecm
i i w B Jiem
Find the perimeter of the figure: o O 3cm

4em| | ™ E
(a) 51 cm 2em| [ 3cm
{b) 52 cm 3 cm = 2 cm - A
(¢) 53 cm sem | |+ £ ?
| .~ 23
(@) 54 om 0 — |
4 cm I em

T 450 Y TR ¥ AT Rraar T w90 WX sarer & gfdad 4.5% FrE A

T H 73 9 81a= & fAw?

How much time will it take for an amount of Rs. 450 to weld Rs. 81 as interest at
4.5% per annum of simple interest?

{a) 3 years (b) 4 years (c) 6 years (d) 5 years

v R &, A aE T U For F 2 I 3R AT For g5 For A
3 3T &1 e & o7 A HifFw

In a triangle, af the second angle is 2 times the first angle and the third angleis 3
times the first angle, find the angles of the triangle.

(@) 30°,60°, 90°  (b) 15°,30°, 45°  (c)45°,45°,90°  (d) 20", 40", 120°

Z2

T T T SEe 616 T 2 ¥ swe cry A Hifaw (rr = ?)
The area of a circle is 616cm®. Find its diameter.

(a) 28cm {b) 14cm (c) B6cm {d) 32cm

ST 53.016 F1 24 T HET & &1 HETHS T1d FITAT
Find the quotient when 53.016 is divided by 24.

(a) 2.29 (b) 2.209 (c) 2.292 (d) 2.029
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ﬁ 20. 60 e wars Y 3 drex ulEs F UE IR @7 25 A F 9 e Zar Fal

Sy arar &) =5 9y #F g § AT suter &t ot arelr gt fr g e S
A’rectangular path of 60m length and 3m width is covered by square liles of side
25cm, Find the number of tiles used to make this path?

(a) 2250 (b) 1440 (c) 2880 (d) 1200

30. 475 + 950 T 64 % = 900 + A, H A F TS 9T HiF O g gl ?
What is the valueof A in 475 + 64% of 950 =900 + A

(a) 183 (b) 233 (c) 1983  (d) None of the above/ 578 & +12 Fal

31 216, 288 TUT 720 T AR FATIGAF FAT 29T ?
What will be HCF of 216, 288 and 7207

(a) 12 {b) 24 (c) 84 (dy 72
32, WA HT (106 X 106 - 94 X 94) = ?

Solve (106 X 106 - 94 X 94) =7
(@) 2400 (b) 2000 (c) 1904 (d) 1906

33, forely @ & @ 600 & 70% @ 2 Res o= w320 wed dier & a@F
war Rt § 7 |
If % of 70% of 600 when subtracted from a number is 320, what is the number ?
(a) 300 (b) 600 (c) 720 (d) 500

34, UH FAPBET Rs. 15007 wlewy Rs. 1650 # <=7 7147 | uﬁ‘rammﬁm??

A mobile phone is sold for Rs. 1650 after purchasing it for Rs. 1500. What is the
percentage of profit ?

(@ 10 (b) 15 (c) 20 (d) 16
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35.

36.

37.

38.

39.

8 Class VI - SETA

W?WM%@ESMﬁﬁWW#HMW Go
Faf gEY e & & & i A & SE 22 3 W RU | gEX SR A
Tqr PR wiaea e 3w wred e 2

In the first test of mathematics a student gets 18 rnérks out of 25. In the second

test of same weightage he got 22 marks. What percentage of marks did he get
more in the second test 7

(a) 4% (b) 8% (c) 16% (d) None of the above

2nmﬁﬂmﬁ1a%tmqﬁmﬁﬁ3mwmme
grem ?

Average of 20 results is 18. If 3 is subtracted from each result, then what will be
the new average?

(@ 21 (b) 15 (c) 16 (d) 17
7. 2 3
3%
e A/ Solve 3
2+1%
3
33
@ = () o @z @7

319 90.0675 & 15 & N BT ST §, A HETEA §
If 90.0675 is divided by 15, then quotient is:

(@) 6.0045 (b) 6.0450 (c) 60.0450 (d) 0.6045

ngr ¥ red gz A €2

How many seconds are there in 24 hours?

fay 30 (b) 60 {c) 3600 {d) 86400

www.FirstRanker.com
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40. VI0B9 +121 & ¥l & /Valueis
(a) 3 (b) 13 (c) 33 (d) 53

41, A RIS ABCH FIOT AB FUT C FRr: 3x, 5x AT 8x+4EY A Awt Fon
F AT AT T

If angles A, B and C in a triangle ABC are 3x, 5x and 8x+4 respectively, then
find all the three angles.

(@) 33,5592 (b) 70,75.35 (c) 90, 75,15 (d) 90,95,100

42. 37800 &1 3N IUES FT § ?
What are Prime factors of 37800 ?

a) 2 X2Xx3X3IX5X5x7X7
(b) 2X2X2X3IX3IXIXEXEXT
fc) 8X27x25X7

(d) 2X4x25x27x7

43.  (10% of 3.75 + 15% of 7.25) F&wTad & ylafda &t / convert into decimal
(a) 1.4625 (b) 14.625 (c) 1.4652 (d) 14.652

44, A | IHAFH FE ANF A 3T A oF A AT @l g

Which sequence correctly matches these angles with their measures.

(1) ~ (ii) ~ (iii) L W N

(@) (i).Gii), (iv), (i) (b) (i), (i), (i), (iv)
(€)  (iv). i), (ii).(7) (d) (i) Civ).Giii). (i)
45.  HUF HASAHEAE, AR I A A wmerd €, a o F s gy swen |

| am a prime number. If you subtract 2 from me, | become divisible by 7.

| @ 29 () 19 (& 31 (d) 23
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93 46 / 50 & fav i@ afesr & wmnt st g |

For questions from 46 to 50 the following table has to be consulted.

46.

47.

48.

Name of the city Temperature at 3 AM (°C) | Temperature at 3 PM (°C)

Chennai 21.1 299

Mumbai 19.0 il 74 |
| Thiruvananthapuram | . 216 Pl Y

Kolkata : 13.1 bt
. Bhopal 9.8 . 259
| Srinagar 13 - T8
' Guwahati 12.8 " 248
| Jaipur 10.2 23.2

fFa Ty Oy ﬁiﬁ‘ 3 gof 3TUaH S9ATT U7 |

Which place had the highest temperature at 3 AM ?

(a) Chennai (b)  Thiruvananthapuram

(c)  Srinagar (d)  Jaipur

A9 I g FlT A IR IR SN |

Which place is the coolest at 3 PM 7

(8) Kolkata (b)  Srinagar

(c) Mumbai (d)  Bhopal

SITET 3 &, Has 7 AT AR d e 3w 2

How much higher is the temperature in Mumbai from that of Srinagar at 3 PM 7

(@ 81 (b)

351

{c)

27

(d)

29

Rwasiagyer uo‘i?,?ﬁﬂﬁ-‘ﬂwaa«'qgaﬁﬂ:ﬁ‘-rv 3 a‘igﬁgﬂtmﬁaﬁmﬁ

AT BN |

How many degrees will the temperature at 3 AM need to fise (or it to
reach 40 degree celsius in Thiruvananthapuram

{(ay 65 (b)

18.4

(c)

216

(d)

33.5

www.FirstRanker.com
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L ]

aﬁ?ﬁmi‘a{#aﬂmaﬂmﬁ%mw& (3 &t yatEa vd 3 &t

How much lower is the temperature of Kolkata from that in Chennai at both
times (3 AM and 3 PM) ?

(@ 8%and33° (b) 3%and8®
(cy 8%andg? (d 3.3%and3.3°
HI & - YHTY A

SECTION B - GENERAL KNOWLEDGE

FTer AP F w9 i ST ST 22

(a) R o+ - (b) T oy

(c) Fetze AEY (d) F3ET Hiaw

Black soil is also known as?

(a) Regur Sail (b) Red Soil

(c) Laterite”Sail (d) Mountain Soil
o dr ey o e & S 82

(@) e - . (b) fRe

() € et i (d) grehY

PV Sindhu is associated with which sports 2

(a) Badminton (b)  Cricket

(c)  Football (d) Hockey
A TR & HATeT Friers &) 2@ &l F3ar &
(a) HFTHEEY (b) THEHR I

(c) FATarS (d) 3HU

The Space Programme of Govt of India is looked after by
(a) ISBT (b) NTRO

(c) NABARD - id) ISRO

WIEST AT Ui R T8 o e e

(@) |aesT ' (b) TETEI

(c) et (d) FET

Bhakranangal Project is built on the river 7

(a) Sutlej (b) Mahanadi
(c) Godavari (d) Cauvery

www.FirstRanker.com
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55.

56,

57.

58.

89,

12 Class VI-SET/

@ & o gEe & w0 F S -
(a) AR TTE (b)  wETET TWeR
(c) HER IeoHHS ©Cd (d) H|uW g A

Who is known as a ‘Iron Man’ of India ?

(@) Jawahar Lal Nehru {b) Mahatma Gandhi

(c) Sardar Vallabhai Patel (d)  Subhash Chandra Bose
2feyor arw & waw ol = 2

(a) WETTEr (b)y foiy

(c) wwEEdr (d) Tiremadt

The longest river in South India is ?

(a) Mahanadi (b) Indus

(c) Saraswathi (d) Godavari

e 1z # gaw & M & 9wy T F W F w0 F w0 e ot
(a) W W (b) *FuT
(0 Tu 7" (d) qedt

Which planet is known as a morning star as well as evening star ?
(a) Mars (b) Venus (c) Mercury (d) Earth

HRET 1 FEr sg=E W i S e w5 e v

(a) amehE 2% (b) =rerE 23

(c) 3T 2w (d) amera %%

Which Article of constitution provides Indian Citizen ‘Right to Equality'?
(@) Article 12 (b)  Article 13

(c) Article 17 (d) Article 14
T I S HWaT B T ¥ R 2

(a) WEEE (b) afdE

() T (d) ufny Fmer

‘Narora' nuclear power plant is located in the state of ?
(@) Maharashtra (b)  Tamil Nadu
(c) Uttar Pradesh {d) West Bengal

www.FirstRanker.com
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80.  FI W AT it e 3R o & thert
(a) #WRAT  (b) El () 9 (d) SR
Which of the following diseases spreads through contaminated food and water?
(@ Malaria (b) Cholera (c) Dengue (d) Filaria
61. = gfar = waw wsr e -
(a) =l i (b)  srEmTT WEwRE
(c) e imm (d) it e
Which is biggest desert in the World?
(a)  Kalhari Desert (b)  Atakama Desert
{c)  Sahara Desert (d)  Gobi Desert
62. “HFH * T 39 FE T F g e
(@) sm@w (b)  erEUmEET WA
(c) FRurae vy (d) arfer wemr
Manas national park is located in the state of ?
(a) Assam . (b)  Arunachal Pradesh
(c)  Himachal Pradesh (d)  Andhra Pradesh
63. 3 W aiA St A agar 27
(a) 3neL. (b) 3ETF (c) T (d) e
Which of these grows from the roots?
(a) Potatc  (b) Ginger (c) Carrot  (d) Sweet Potato
B84. WY = 37w F o Hrw ey -
(@) et (b) ufimr oz
() fommt (d) oot W=
Sahyadris is also known as ?
(@ Aravali (b)  Western Ghats
{c) Himadri (d) Eastern Ghats
65  wg e aAtad & weant F sl sneh &

The gas filled in a weather balloons is

(a) Praifer/ Neon  (b) &7/ Helium () 3=/ Argon (d) mewgen

www.FirstRanker.com
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66. @od el o HIUS HEWTHAT§
Growing children need more of
(a)  FrEfeTssc/ Carbohydrates
(b) TE=fAd=r/ Vitamins
(c) W&/ Proteins
(d) @ar/Fats
67. ofiae 9 ¥ gara A Fler dr I g Al &7
Which gas is dissolved under pressure in soft drinks?
(a) A=A / Oxygen (b)  FrEe sTE3TEETES / Carbon dioxide
(c)  #ATSENST / Nitrogen (d)y B3I+ / Hydrogen
68. A W WA HH {oh aTel 9REAT a1y WeAT & ORI T AT FET ST 87
Who is the lowest ranked Air Force Officer among these? [
(a)  faer AT Wing Commander
(b) I Frea /Group Captain
(c)  wem=er 3fFEY Flying officer
(d) wege aftfeaie/ Flight lieutenant
69. FeATaiaa & § Sl &1 IS¢ O §7
Which of the following is a national festival?
(a)  &urEr /Baisakhi
(b)  IoTET fGEH /Republic day
(c) direr /Pongal
(d) ®&YgaN/Chhath puja
70. 3T 3A A A &1 A Aide [EER Shar?

Dr. Amartya Sen won Nobel Prize in which field?

(a) ¥URA /Economics
(b)  enfdY /Peace

(c)  THTAA fAFE/Chemistry
(d) @rfgcdiLiterature
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71, seadr ya R afErf ga & dra & Rl ege a4 e S g ?
The imaginary line drawn half way between North Pole and South Pole is called
(a) @ 3@ [Tropic of Cancer
(b)  Feo AT T@T /Equator
(c)  3THEE Wwehal/Arctic Circle
(d)  3Herpfes wda/Antarctic Circle

72, afer @ wed ag wgds €
The largest Island in the world is
(a)  3irEfa /Australia
(b)  FgSirels /New Zealand
(c) I=dE/Greenland
(d)  #Hranfas/Mozambique

73, gferar o1 gad &ar T, gferor # wel R

The coldest place in world, lying in the south frigid zone is
(a) TS /Greenland

(b)  3TETRTes /Antarctica

() srEefAar/Australia

(d) #43TeHs /New Zealand

74 vews W SHNEI @ nfasER e feear?
Who invented telephone in 18767
(a)  UeSlET INEH A /Alexander Graham Bell
(b)  arFw fRehY JJames Hickey
(c) IIFEUEAT FAHisT /Guglielmo Macron
(d) =t &/Logie Baird
75, gAY Ao 6 scr Fefafaa S u asa wr g
‘Ghoomar’ is a popular folk dance of which of the following states?
(a)  {TSTEYUTT /Rajasthan
(b)  FE ug2A/Madhya Pradesh
- (c)  3SrAT [Orissa
(d) 3ca¥ weer /Uttar Pradesh

www.FirstRanker.com
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HET T - T
SECTION C — LANGUAGE
(Only for those attempting English Language)

Read the following passage and answer the questions (Questions 76 to 80)

Midas, the king, was a greedy person. He loved gold more than anything in
world. He had lots of wealth but he was never really a happy person.

One day God Bacchus came to Midas. Midas had once helped god Bacchus a
in return Bacchus offered him a gift. “What shall | give you to make you happy,"Gos
asked him. Midas thought for a while and then said, “Please give me the power to tu
everything | touch into gold.” Bacchus laughed and said, “Your wish is granted. As s
as the Sun rises tomorrow, you will have the golden touch.”

The next morning Midas woke up, and he had his golden touch. He touched h
bed, the chairs, doors, windows and all bacame gold.,

Suddenly, he felt very hungry. He sat at the table but as soon as the fo
touched his lips, it turned into gold. So did the water. It seemed he could no longer
or drink. After some time, his daughter came to him. When he put his hand on her, s
became a gold statue. In the end, Midas became very sad and prayed God Bacchus
take away the golden touch from him.

76.  What kind of man was Midas?
(a) a greedy person (b) a great miser (c) a brave man (d) wise m

77. Who came to Midas ane day?
{a) God Jesus (b) God Bacchus (c) God Zeus (d) God

78,  Why did Bacchus offer him a gift?

{a) because he had helped God once  (b) because he had pleased Bacchus
(c) because he had annoyed Bacchus (d) because he cared for Bacchus

79.  What was Midas' wish?

(a) To become rich (b) To turn anything into gold
(c) To turn his daughter a golden doll (d) To become powerful
80. Who turned into gold statue when Midas touched?
(a) daughter (b) son
(c) uncle (d) aunt

Rearrange the following words/ phrases to make meaningful sentences. Cho
the correct sequence. '

81. it (a)/ life is (b)/ what we (c)/ make (d)
(a) abed (b) cdab (c) dabc (d) bcda

82  gold (a)/ is not (b)/ glitters (c)/ all that (d)
(a) abed (bycdba  (c) dabe (d) dcba
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playing (a)/ in the (b)/ park (c)/ children are (d)
(a) abcd {b) beda (c) dahc {d) cdab

Fill in the blanks with the appropriate option.

84

85

86.

a7

Either work hard __ give up studies.

(a) nor {b) or (c) and (d) but

He is afraid the dog.

{a) on {b) of {c).in (d) by

He __ tea every morning.
{a) drinks (b) is drinking (c) drank (d) drunk

The child has been missing ___ yesterday.
(a) for (b) of (c) by (d) since

| Do as directed.

i 88.

89.

90.

91,

92.

93.

94,

95.

86.

Johnismy __ brother (Find out the correct adjective)
(a) elder (b) bigger (c)old (d) young

Frenchis ____ easy language. (Select the correct article)
{a)a (b) an (c) the (d)none

Ashok ___ him yeslerday. (Write the correct form of the verb)
(a) meet (b) met (c) will meet  (d) is meeting

Choose the most appropriate option.

Which word means nearly the same as ‘sufficient'?
(a) infinite  (b) adequate  (c) merry {d) surplus

Which word is the opposite of ‘simple’
(a) complex (b)easy (c)obey (d) show

A list of boaoks in a library
(@) monologue (b) dialogue (c) catalogue (d) diary

Find the feminine gender of ‘horse’.
fa) mare (b) doe (cyewe (d)ram

Choose the word which means the opposite of 'RISE’
(a) fall (b) smooth (c) pride (d) rash

Choose the word which means same as 'GRIEF’
(a) cheerful (b) sorrow (c) happy (d) injury

www.FirstRanker.com



:l », FirstRanker.com

A Firstranker's choice

www.FirstRanker.com www.FirstRanker.com
l _____._——"_'___'—-_"_#
18 Class VI - SETA

g97. One who does not believe in existence of God

(a) theist (b) pacifist (c) ascetic (d) atheist
g8. The match has been postponed _ it has been raining outside. (Supply
Conjunction)
(a) so (b) because (c) therefore (d) and
99. Thisistheboy parents have died. (Supply correct Pronoun)
(a) whose {(b) who (c)whom (d) his
100. He doesn't help the poor, 7 (Use Question Tag)
{a) did he (b) does he (c) doesn’t he (cl) do he
HET T - HHT
(Fraer B wmar F ofter et & Fo)

v & st R T Rt ¥ @ oRa Ree # 9w S
76. A = g TR

(a) TG (b) T (c) HfiT (d) Frmity
forr gre & o wEt Rafards = (Bee) =1 waT fiN
77. &gl
(a) FHT (b) HT (c) ATHTET (d) TEATET
e T Ty % R vt wR-RAedT (Ree) &1 99 HifE
78. U
(a) UIH+SHT  (b) UT+WWIEA (c) T+IER (d) UTAT+EAT

frer iR Tl ¥ e SuEt & 9Et e & =9E HiW
79. w@WA

(@) & b) == (c) T (d) =

uiE U % At R e e 3 & e fae i
80, FE W W FH-91 T AT I w ugiart 3= 7
(@ Fa (D)WW (c) FA (d) &5t

81, Iwanfr e # Aew w0 E ,
(a) feraandr (b) wEYwEf () it (d) 3TErT
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e vt / 2w & g Ry o Rt ¥ @ sRw v w7 e o

82. W wIwT % g v
(a) 3marEE (b) =B (c) WarEE  (d) wHEE

83  Wriw = T & o w A PRl we/mEt @ qestafiuw . Rt
fow T wEt e W =T w
=/ F [ FE / WE-HEeT
A B C D
(a) DCBA (b) CDAB () BDAC  (d) ADCB
84. fumu vt St Tt 9 F Ty FEew @ Rfew w5y

(a) rreft (b) R () sl  (d) AW
e T i & o soge fwer 9

85. 31 WIETAAT WY FEHATET — e e —
(a) e wnft (b) &g wrdt (c) & wmdt (d) W amdy

y3 & it By feeat F F sfRw B wrwmm i

86. i ¥ w—wr y= e w7 wahEdt wEE
(@) gufd (o) sFrEr (o) wgd  (d) wRada

87. = W & sw-w 3= “Fder 1 vatwart @ & 2
(a) B (b) @ (o)W (d) T

Frefifea srqeda @) erqde tgae g8 v met @ fag o Ree gf( ww
YEi-g8 ¥ 92) ' '

ur A g A R g @ e w8 e | e g S greaRe e 9 e
w2 g & sl @ o A o vt e € R o T 3w o #) s
30, § e, geeE, A, A W AEged 3 wwR ¥ of @ w9 TS B e
Feaw & v @ e o, By ae N of ol wga @ ey A v o o ) oF B A
WG A, I g, FW A, & o o of @ o oh od S 9w w g
T TR T ¥ | Y @ 39 Foe @ Mern @em anen 8 e @ owew 9
R & Tl A= @ wew @ 9fy SreEE SO SV B A e £
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88  uN¥ ¥ UMY F1 SFER S O

(a) WRrumR (b) wamef (c) Fremmayyf (d)
89 WY ¥ uNwRe dg @ O e @ ?

() $ex A (b) w1 w7 A (c) wrergest 3 (d) wrgait =
90 e A9 & Fegwr @ oy @ fAdw Ran ?

(@) = wg= A (b) weTgesl A (c) gwax A (d) oras A
o1 v & Tw el @ oS d g ?

(a) W (b) & (c) =ama (d) et

92 AR Yol B Ewd @ Uit SNTeear ST B B (AT WA aa 87
(a) fmm (b) a=en (c) armernm (d) =

Frafafea s & SlfdT wv gfe-
93 T
(a) wfaea (b) i (c) wafdt (d) wfaast
freiferfaa & yfesin wreg 8-
94 fafRar v @1 agae w9 2
(a) i (b) R (c) frh (d) fafsm

95 ¥l @ Y HY B TUA DIAT—

(@) gemaTe (b) er=amaTe (c) er=ararg (d) eTaar=
geral & ad) aef gfie—
96 o fawr .

(a) 7§ SAwR Few  (b) g e e (c) g W Fwn (d) 7ga e s

g7 bl SET
(@) @m @& (b) amer &= (c) = 5= (d) & T

qragty @ (e od) fawes gfeg-
a8 qoE o arel—

(a) fareamf (b) wiiers (c) whemeft (d) Frders
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faetn we gfeg—
g8 U
(@) oo (b) 3™ (c) Terf= (d) fawra
100 e B HAER waled avd e Rew gig-
(1) (2) (3) @)

101.

102.

103.

it @ [ gE-—ga o1 e [ R Fvar @ /7 Rufa ®
(@) 1.234 (b) 2143 (€) 2341 (d) 2413
ETH" -
SECTION 'D' : TEST

If CATTLE is related to HERD then SHEEP is related to___.
CATTLE &1 3 §atr HERD @ & &% 3¢ w17 SHEEP &I Hat #F g Erm|

CATTLE : HERD :: SHEEP : ?

(a) FLOCK (b)) SWARM
(©) SHOAL (d) MOB

Choose the alternative that has the same relationship to 09 as 07 has with 56
A & o wEEr Awer # 07 Few & St waw 56 & @y § , 8% R F 3R | 09
e F A 9 ' W Br o et 9 & d ger aer RBEe g |

07 : 56 =09 :?

(@) 54 (b) 81 ) 72 (d) 99

Choose the alternative that will continue the number series below:-
Hﬁaq—rqm!ﬂﬁa?;ﬁﬁérmﬁmma{wﬁqﬁﬁl

5. 11,17, 23,7

W 31y 29 (c) 28 (d) 35
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104. If you fold the transparent paper along the dotted line in Figure '}{' which
alternative figure from A, B, C and D would you get?
FfE greel 4w T & i X Wﬁm#mwﬂ?mwﬂ@mMmﬁ{ﬁm
wER A, B, C aurD & gl ?

N N R

X (h) B (c) € @ D

105. Choose the word wiich is least like the other words in the group
3w e @ R A gl el & g A et gt e |

oo+ BT A G

(a) BAKE (T PEEL Y (e TSERY (@) ROAST

]

106. Which of the following diagrams indicate the best relation between India, Hagyana and
Waorld?

A fow are 2T & & @b ar B e, evaen 3T TR ¥ A @ A s A e

=00 W ED .

(a) (b) (c) (d)

107. Choose the word which is least like the other words in the group.
o weE F TEE ST @Y el & W & AG a9 @ |

@ VIRGO (b) PISCES  (c) CANCER (d) ORION

, 108, If STATEMENT is coded as TNEMETATS then POLITICAL wall be coded as
st STATEMENT 3 TNEMETATS farer sirar & & POLITICAL % &= Sar s ?

(@ LACITILOP (b) LCATILIOP (c) OPILITACL () LACITIPOL
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Figure 'X' is embedded in any one of the four &llernative figures A, B, C or D.
Find the alternative which contains figure *X' as ils part.

A e a fawesi A, B, C 3fft D & Rl v R & sigy X' gl O g ¢ |
37 Aoy @ glae Fwt X angfa el o s @ R g @

| : 1 | |

FAN

X T A (b) B (c) C (d) D

e ne & %

= gt ® B

If ‘A" means add, 'B" means sublracl, 'C' means multiply and ‘D' means divide,
then what would be the answer of the equation?

AT A STHT AT ST, ‘B A U HAT I, CC ) IV FET ST, AU D E M
A S, T Hie &y et geteer & Iead Fan g

1I5SDS5C2A3=
(a) 13 (b) 11 (c) 03 (d)y 09

Five men A, B, C, D and E read a newspaper, 1he one who reads first gives
it to C. The one who reads last had taken from A. E was not the first or last
to read. There were two readers between B and A. Who read the newspaper
last?

uig AT A, B, C,D 3T E vF ¥maw ug W &1 = 498 yger e ggor § 95 C @
AR & &1 ¥ e waw A A 9 30 A W HEEN ) E A oar 7 aay uE F w
3T A € wad 3 W B st A F oty o ) uisw O wed 3Her 9 smEn BT ge?

(8 A (b) B (c) G (d D

Choose the alternative that has the same relationship to 16 as 12 has with 168.
A & S vEErHEar ¥ 12 e w1 S Faw 168 & a § , &% 30 & WuR 9T 16
#E F Bv 7 e o BT e Reedt o & st ot s arer Reees g ?

12:168 = 16:7

(a) 232 (b) 256 (c) 224 (dy 208
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113. If you fold the transparent paper along the dotted line Figure 'X’ which

; alternative figure would you get?
afe arEeft AU or &= X s @ g W & smum o A & aw Re o fieg
‘ e gl & wamer gul ?

' X (a) (b) (©) @

114. If in a certain code DEAF is written as 3587 and FILE is written as 7465 then
IDEAL will be written as?

| 39T DEAF @ 3587 for@n smar & 3R FILE & 7465 fomm Sirem & @@ IDEAL 3%t
' Jra@r soe?
(a) 43568 (b) 43586 (c) 63548 (d) 48536
115.  Choose the word which is least like the other words in the group.

39 e A G S gEY u=t & wp ¥ A9 A8 @ |
(a) PLASTIC (b) WOOL (€} PAPER (d) WOOD

116. If we arrange the given words in alphabetical order, which word would come at
last place, choose the correct alternative?

mﬁcmamaﬂmamamﬁsﬁgﬂnmmmmﬁmtmmﬁﬁ
T 9T 0T

(a) ROBBER {(b) RANDOM (c) RESTRICT (d) RESTAURANT

117. Choose the alternative that will continue the number series below:-
35 Reew & o S A & ol Femr Awer a qof Y
11, 13, 17, 19, 23, 25, 7

(ay 27 (b) 29 (& 31 {dy 33

118. Choose the correct alternative that has the same relation to BMJ as HSY is o
EPV

3 fadeT ® 9 e a8 @9y BMJ @ ¥ 5 wEw HSY &1 EPV 1 &
BMJ : 7 : : EPV: HSY
(a) DRM (b) YJG () EPM (d) EON
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119.  Which of the following diagrams indicates the best relation between Flower,
Lotus and Rose?

AT fe are R 31 3 ey i R e e S Ao ¥ wey Y S 9 A erfar g 2
7N

/ \
| e \n\ ( l/"\l J (f\h CID Q
| sk e s O

(a) (b) c) (d)

120. Choose the alternative that has the same relationship to 11 as 49 has with 07

mammmﬁu? TEIT T 31 TIU 49 F @y §, S 38 F 3y 91 1
TEa & fav ' v w1 v ate et A @ sl o Ger aren fasea g 2
07 : 49 11 : 7
(a) 111 (b) 90 (c) 81 (d)y 121
121.  Choose the word which is least like the other words in the group.
34 U= F WY S gat wel & wap & AW =E @ |

(a) GREEN  {(b) PINK (6 INDIGO  (d) VIOLET

122.  If X is the brother of the son of ¥'s son. how is X related to Y?
XY FRFEFWEEL S X Y aFmugEwt ?
(a) Son (b) Brother () Grandson (dy Cousin

123.  Area of rectangle is 48m°.If the length is 6 m then breadth =

AT 1 & 9Fe 48 T A B s snP i s dex  arsudratsE . ¥
(a) 13 m (b) 6 m (c) 10 m (d) 8m

124.  The priest told the devotee, “The temple bell is rung at regular intervals of 45 minutes,
The last bell was rung 5 minutes ago. The next bell is due to be rung at 7:45 AM” At
what time did the priest give this information to the devotee?

T Head @ &len “FRY & avdy 45 e & PRy saue @ aomh o9 ) Ao
ﬁ‘aﬂﬁﬂzwﬁmwzﬁ.mﬁdﬂwéﬁu. s @t wel ST, gend &
I Ho= oe ast & ?

(a) 7:00 AM (b) 7:05 AM (c) ©6:55 AM (d) 7:40 AM
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125.

If in & certain code MBS is coded as ODU then BRL will be coded as?
T MBS & ODU frar omr #a9 BRL  &# forar smwn?
(a) DTN (b) DUN (c) CSM (d) CTN
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